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Briquc Plcinc 56X 11X22
Foids:2 5 icg/[:)iéce

I parement: 72 Piéccs/MZ
n pavage : 40 Piéces/]\/\z

Briquc 41X 11X22
Foids: 2.1 kg

n parement: 84 Piéces Mz
n pavage : 40 Piéces/]\/\z

Briquette 3 12 X 11 X 22
Foids: 1.6 kg

n Paremcnt : 110 Piéces/MZ
n pavage : 40 Piéccs/l\/\Z

Briquctte |argc 31X 13X 26
Poids: 2.1 kg

n parement: 92 Piéccs/MZ
n pavage : 29 Piéces/]\/\z

Petite briqucttc 31,X5X22
Foids :0.8 lcg

n parement: 11 o ,/M:=

Mulot 5 12X 5 X 22
Poids: 1.2 kg

I parement: 72Piéces/l\/\Z
n pavage : 72 Piéces/]\/\z

Mulot a bout arrondi
Foids: 1.2 kg

n Parcmcnt : 20 Piécc ML

briquc de pavage 15x 20
n parement: 72/]\/\2
Er\ pavage : 32 MZ

Tuileau 1 2x 5 x22
Poids: 0,300 (Gr
n parement: 72/]\/\2

Chapcron de mur 51 x13x 3%
Foids : 3,600 kg
18,/ML

borclurc dcjarclin
Poids: 2,100

7 /ML

Fensée ou feuille de chéne




